sd3uLver

UR Lwhiwgwhh punpnipyndubbph (2-pn thnyy) pybwpynipjwl pupwgeh

UGpwpbipju
o dwdp 11.00-h npnipjudp
= Z =
e 5 £
Cpowl 2 & e
'\l powtp = L3
~ a g = D o
~ (punupp) &3 E=Z 2
5 < & 3 e
& o 3 3
= = 5
% 3
1 2 3 4 5
1 | Uunbthwiwlbpun 39003 4324 11.1
2 | Uulkput 11925 2313 19.4
3 | Zunpnip 8521 1811 21.3
4 | Uwpunulbtpun 13026 2312 17.7
5 | Uwpuniup 17228 3066 17.8
6 | CTwhnuljul 2100 340 16.2
7 | Towp 3906 547 14.0
8 | Pwpwpuy 7096 1008 14.2
9 | Bplwt/1 832 50 6.0
CuLTUUBLL 103637 15771 15.2




